Эпиграф урока
Наукой свет стоит, ученьем люди живут

Карточки для игры «Числовая цепочка»


Карточки для парной работы
12 : у = 1   у =                        55 : 5 = 
9 х 7 =                                   340 + 80 =                                                                                                                482 – 12 =                             737 + ...  < 139  

План:
сумма          
неравенство
разность     
уравнение
частное       
произведение   

Название ракеты ________________________
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